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KEY
Note: other arguments other than the ones provided can be acceptable.  Number lines can be used instead of words to show thinking.
1.  7 + 3 + 10 = 10 + 7 + 4
Not true.  The only difference is the 3 on the left as compared to the 4 on the right.
2. 15 + 6 + 8 – 6 = 3 + 15 + 5

True.  The left side is equivalent to 15 + 8 and the right side is also equivalent to 15 + 8.
3. 12 + 9 + 5 = 4 + 10 + 12

True.  The left side is equivalent to 12 + 14 and the right side is also equivalent to 14 + 12 OR the 12s are the same, the 9 on the left is one less than the 10 on the right, but the 5 on the left is one more than the 4 on the right.

4.  7 + 5 + 10 = 2 + 7 + 4 + 8
Not true.  The right side is equivalent to 7 + 4 + 10.  The only difference between this expression and the left side is the 4 as compared to the 5.   
